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26 AYE, AYE, CAPTAIN!

Isabel is an apprentice ship’s p
month on-the-job training sess

number of hours she works per mon
works on the sailboat by at most 40 h.

ilot and hopes one day t0 becom
ion, she must work on @ catamar

ion contain

e a captain. During @ one-
an and a sailboat. The
mber of hours she

th on the catamaran exceeds the nu

Isabel has to work between 20hand 40 h . Kok ;
- '1*\'.#,,.,.”‘_'””

a month on the sailboat. The training lasts

for a total of 60 10 100 h. On the

catamaran, Isabel is paid $4/h and on the
sailboat she earns $7/h. How must Isabel
divide her time if she wishes to maximize
her earnings during her training?

PR REFLECTION 2

Scanned by Camsiiiiii-



,oWER OF SUGGESTION

i’ p of at least 40 people volunteered o be hypnotized, t is peli
7 A9 are easier to hypnotize than those who are strong-willed. In
pel?lk“”“cal people combined with twice the number of SUQgesti.ble
of; ‘,;';mough there are at least as many suggestible people as ther
herlf Lie no more than 50 suggestible individuals, If g suggestible
tgnali‘«‘“ of being hypnotized and a skeptical person only a 350 cha

gach type are required to hypnotize the maximum number of peopl

eved that suggestible
this group, the number
people does not exceed
e are skeptical people,
person has a 70%

nce, how many people of
e?

:p TO CAPACITY

!

A rock concert is organized in a stadium that can hold
10000 people. The tickets were sold in advance via

jicket outlets, and at the stadium door on the day of N : {
he concert. At least 4000't|ckets are sold in advance ' Sk
and a maximum of 3000 tickets can be sold at the - T 3

«tadium door. The number of tickets sold at the o~ congf;fz arrll/‘l‘sfn‘rgéal;s ‘
door is greater than one quarter of the tickets g T
sold in advance. An advance ticket costs $18,
while a ticket sold at the door costs $20.

a) What is the maximum profit that this concert
can yield?

b) 'n this situation, how many tickets were sold
1 advance via ticket outlets?

41 v2k BUG

In e late 1990s, companies around the world became concern_eq that their computers sk il
wee not able to deal with dates in the year 2000. They began hiring consultants to make  computer, the

. . i ds at most ENIAC, was invented
their com ” tible” A company affected by this problem spend _
puters “Y2K compa b er programmers and technicians. The 1S4 oLl

e X D 59 e iaafip 7 ‘s scientists. It was
servicesoo?fgfosg'?ann:;r;t:] CF())(:?SQO 000 for six months and those of a.technlman, $1 g 000. useg :o t,f’c L;f e
There must be at least 2 programmers to begin the work an rcket SRS
each should be assisted by least 2 technicians. If, in six mon':jhs, a
programmer can do 15% of the work and'a' techmcuanhcan 0
10%, how many programmers and technicians mu‘sbtlt e .
company hire to do as much of the work as possible in

months?
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